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1, 59 w2-0 gReraT & 100 7o &, Tormt 1 < 25 aa T T, 26 % 50 o i 3k 51 ¥

100 9% ARG AT & 92 &

This Question Paper Booklet contains 100 questions, out of which 1 to 25 are of
Hindi Language, 26 to 50 are of Mathematics and 51 to 100 are of Mental Ability
questions. . Ay

2. WU YRA®T § Wedd T2 & 3R H UR faed (A), (B), (C) @2 (D) A W&, T &
<ot U Tooed el &1 OMR TR 16 | Fis FeH e & W ol T IR gl § 3 dbdet
39 I I UieT: BT B 511 31D SRR 39 T 3 TR B el faped &

In Question Paper Booklet, four option (A), (B), (C) and (D) are given for the

# answer of each question, in which only one option is correct. In OMR Answer

Sheet, darken that circle completely among the given four circles against each

question, which is the correct option according to you.

3. OMR R U6 ¥ & fo1e 31maeae Fider OMR 3t U3d & U5 HI R 3iied &

For filling OMR Answer Sheet instructions are given on the backside of the OMR
Answer Sheet.

4, 7T & IR OMR TR Wi el FRIeies 1 |id &1 712-ua YRAw! ST RIaTe s1o ey
- aSTEed & |

OMR Answer Sheet is to be submitted to the invigilator at the end ofthe examination.
The candidates are allowed to take away the question paper booklet with them.
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1. GYH T -
(A) @
(B) §
(C) o
(D) &

2. e o TR & TR & arer ot
W &
(A) TEUD
(B) °TEE®
(C) TTFT
(D) AT T

3. fedgge=t-
(A) 3N
(B) TOIR®
(C) 3nTE=
(D) feifr

4. '@ AR A W E -
(A) TR
(B) &3 &
() i
(D) ¥IE &

5. quif & ‘PUEG T4 AR WIE P
BE &
(A) Tof g
(B) gul gr@T
(C) =of g
(D) aiFg
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. f&=&) (HINDI)

6.

10.

e &1 fem & -
(A) 3TR¥

(B) g

(C) =it

(D) 3

U5 G T ST BRI aTe baeTid & -
(A) o|™H
(B) SgaTH

(C) ~faeT
(D) TP g

311 TooeTt 21 o g ¥ eRIa O b 31
&l geeT o &1’ ST PET & -

(A) "G

(B) - fobarr femimor

(C) dRd

(D) U

& |
(A) 3rETaEg

- (B) 39U

(C) <
m)%%T_

forer # gfeei o &
(A) T

(B) P=m
ORIEHEY

(D) BRIGEH
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11,

12.

15

14,

15.

(D) - U | HERT

I §E 9T BT S ORI &-
(A) TTHN BIet

(B) Yaoict
(C) 4oy et

(D) depid

To5ar B It BT PEd B-
(A) <=1

(B) fTobarr formoT

(C) @al

(D) HHa® fopam

‘378 B cIpE!” YRR T wel aref &-
(A) The! G ST

(B) STen-e! G

(C) 3T AT

BT 8, S PET & -

(A) IReT IEY

- (B) Y dlag

(C) T amag

(D) $ & PIS &I

"HEY T 3! & SHFERY |- &7 a5

BT R IS HH &-

(A) i T 3 & SR
(B) 38 & WaY SHFERT S|
(C) $HMGRY Tasy 3! T &1
(D) $AMERY N 3 & ey
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16.

quit & BT ¥ 7 W @t g @
TETE -
(A) TIag
(B) ¥I=
(C) &

(D) ¥

17.

18.

- 19,

20.

T T Sl BT e R 0T I Bl
=3

(A)

(B) o8

(C) fefr

(D) 3/

w6 ¥ a1ef ooy v RE F -

(A) 3RI

- (B) TRt

(C) T
(D) UITIERY

TN BRI [auRs frg &-
(A) ¥

(B) #

(C) &

(D) &I/ & foe

e &I A o &
(A) @i + 3&a:

(B) ¥l + &

(C) & + 31

(D) T + J&:




et (e i 21 9§ 25 ) - F=Tifcber TEITeT DY TG Uga XU TE FRAT o foe el SR
() e - |
TR w3 fore aiftremy €, 3 v ot sieava, ik SR STerit s 21 F s
SRR T IS TN &1 31 g2t Y wiciggen URReifcrat # Si semmarel 3iR Hereie oo
ST e v = Y B e ST & o ST 5Y SRav ] 3 e R SgTa ST
]I Reb 9T & B BT I ehifoTe, e aRae a8 31 Bevert §1 39 v a & fore
- &9 3R Tose Hud gt &1 99 e Hud J g 7 AISH ST a8 ST I R 39 30
RN R & SN § W6 7 & sl

21. 3T e mﬁqsm FETAE? 24, TEiE A EER A BT TER)

(A) 3EN B T
(B) TRmem I (A)
o ot ®
~ " (C) &=
22. ATT DI q%@ﬁﬂﬁf@lﬁ@fﬁ%@rﬁm (D) Foem
e?
(A) 3dug, ﬁ%msﬂ?mm@rw 25, 3YcH T BT I e BN -
(B) 3MEIEE! 3R TUeid §d< () s 3l Rifsoe
(g) Z;i:rf (B) TR &I, 7 R &1 79 @
®) ' : (C) FrrEm R
zs.ﬁﬁﬁam@qﬁﬁmﬁw (D) s

Bl 2P

(A) Gud & g Hig ol ol

(B) wmaﬂﬁas%mwéaﬂ?ﬁ
&l

(C) T BISHR Tell S &l

(D) Frrer dlex S o d
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O (MATHEMATICS)

26, 6:6+6X6-6 BT AN E - ~ 26. The value of 6:6+6x6-6 is -
(A) 1 . . (A) 1 ’
(B) 7 o . (B) 7
(C) 31 o (C) 31
(D) 36 ~ (D) 36
' 27. 487623 § 7 & RIFII HIF UG 3ifce 27. The difference between the place
| 7 ¥ 3R BN » value and face value of 7 in 487623
will be-
(A) 6433 (A) 6433
. (B) 6549 B (B) 6549
" (C) 6839 (C) 6839
(D) 6993 (D) 6993
28. 16 AT 24 BT HETH THITID & - 28. The HCF of 16 and 24 is -
‘ ... (A) 8
(A) 8
B) 4
B) 4 (B)
(©) 10 (C) 10
' D) 12
(D) 12 ()
20, 1%+1%+1% @::n:f%- 29. The value of 1%+1%+1—;— is-
4
4 A 5
(A) 5 .
5 (®) 7
(B) 7 -
2 ) o
€ 3 -
D —
(®) 5 e
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30.

31.

32.

33.

34.

-

720 T 31T POHETS & -
(A) 2x2X2X2X3X5
(B) 2x2x2x3x5 -
(C) 2x2x2x2%X3%X3X5
(D) 2x2x2%x3%x3x5

oo & atrd (chr ) 2 -
(A) 2021 |
(B) 2022
(C) 2020
(D) 2023

T T TR BT 7 Bl -

(A) =r
(B) =r?
(C) 2mr
(D) 2nr?

mqagaas.mmmﬁm%-

(A) 108°
(B) 110°
(C) 120°

(D) 135°

Tor &% Wil W3t ot 3i% 8-
(A) 10

(B) 5.5

(C) 6.5

(D) 7.5
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30.

31

32.

38

34.

The prime factor of 720 is -
(A) 2x2x2x2X3%X5

(B) 2x2x2x3X5
(C) 2Xx2%x2%x2X3x3x5
(D) 2x2x2x3%x3%X5

Leep year in the following is-
(A) 2021

(B) 2022
(C) 2020
(D) 2023.

The value of ciréumferehce of the
circle is -

(A) =r

(B) nr2

(C) 2mr

(D) 2mr?

The value of each angle of an
equilateral pentagon is -

(A) 108°

(B) 110°

(C) 120°

(b) 135°

The average of first ten natural
numbers will be-

(A) 10

(B) 5.5

(C) 6.5

(D) 7.5

[ Turn Over]




- 35.

' 36.

' 3

38.

39,

92 BT AT HETE &-
(A) XXCI
(B) XCII
(C) XCCII
(D) XXC

A A9 &) 5B el & -
(A) He=/Jeus

(B) oc (f5u dfc~rom)

(C) e

(D) SEleieR .

v Tommell = 7236 @ 56 % SEeT 65
T & 37| 3T TR aRAdD FR
3 foper 3ifere &7

(A) 87555

(B) 65124

(C) 72360

(D) 65000

T ST & PIOT 1 : 2 : 3 T 3R[UE I
&1 DIUT BT A ST DIFTE?

(A) 159, 450, 1200

(B) 50°, 600, 700

- (C) 30°, 60°, 90°

(D) 40° 60°, 80°

&l 31T I3 BT HaTH GHIIaaS
(HCF) & -

(A) 3T I

(B) 39T 3K

(€)1

(D) O
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35,

36.

37.

38.

39.

X 9

The Roman number of 92 is -
(A) XXCI

(B) XCII

(C) XCcCII

(D) XXC

The temperature measuring unit is-

(A) Meter / second
(B) °C (degree celcius)

(C) Liter
(D) Centiliter

A student multiplied 7236 by 65
instead of 56. By how much his
answer is greater than the correct
answer?

(A) 87555

(B) 65124

(C) 72360

(D) 65000

The angles of a triangle are-in the
ratio of 1 : 2 : 3. Find the values of
the angles?

(A) 15°, 45°, 12Q°
(B) 50°, 60°, 70°
(C) 30°, 60°, 90°
(D) 40°, 60°, 80°

The HCF of two prime numbers is -
(A) TheirSum

(B) Their difference

©) 1 |

(D) o




40. 144 T %amm, 96 3 % T <t Reerr

41.

42,

43,

31 &

(A) 20
(B) 44
(C) 54
(D) 64

17 =
S5 oI sicrerct # wreh s ST waer &-

(A) 34%
(B) 17%
(C) 68%
(D) 25%

11 31k 21 & Toie P a1 BT T &-

(A) FI fawsy = £

(B) 3N T¥ G=RI &l
(C) BT TE-31¥IsY T & |
(D) &M 3 F ToT &

U% % B 594 fBHI0 T W 108
A= Eratet erran &1 1650 T8I0 Bl g
T &R H e dliex Siste ehi?
(A) 108 eliex

(B) 165 tliex

(C) 300 e

(D) 3000 &leX
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"4

3th of 144 is how much greater

3
(A) 20
(B) 44
(C) 54
(D) 64

than 2rd of 96?

17 :
. == can be expressed in percentage

25
as -
(A) 34%
(B) 17%
(C) 68%
(D) 25%

. Which statement is true for 11 and

21 -

(A) Both are divisible numbers.
(B) Both are even numbers.

(C) Both are co-prime numbers.
(D) Both are multiple of 3.

. A truck requires 108 litres of diesel

for covering a distance of 594 Km.
How much diesel will be required

_ by the truck to cover a distance of

1650 Km. ?

(A) 108 litres
(B) 165 litres
(C) 300 litres
(D). 3000 litres

[ Turn Over]
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44, T &5 U1 @7 HEwr ¢ 180 & 3R 8
Rt o1 Hewr < 56 &1 T O & e o
v URieT & T ¥ 3rguT 8
(A) 15:7
(B) 180:56
(C) 1:1
(D) 8:15
45. UH 3T D TS, I9H! dies 3 5
[0 317eI &1 3R e T uRFY 50
JHI0 € A 3T BT &iter BN -
(A) 150 Tt JH0
(B) 250 & 3ft0
(C) 900 T THO
(D) 800 T THIO

46.

4096 BT TG &
(A) 74
(B) 64
(C) 66
(D) 63

47. 114 3R 95 BT T FHTIS &-

(A) 570
(B) 950
(C) 1140
(D) 5700
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L

44. Cost of a dozen pens is ¥ 180 and
cost of 8 pencils is ¥ 56. The ratio
of the cost of a pen to the cost of
a pencil is -

(A) 15:7
(B) 180:56
(C) 1:1
(D) 8:15

45. The length of a rectangle is 5 cm.

more than the width. If the périmeter

of the rectangle is 50 cm. then the
area of rectangle will be-

(A) 150 cm?

(B) 250 cm?

(C) 900 cm?

(D) 800 cm?

46. Square root of 4096 is-

(A) 74
(B) 64
(C) 66
(D) 63

47. LCM of-114 and 95 is -

(A) 570
(B) 950
(C) 1140
(D) 5700




48.

49,

50.

T 31oier T AT @ 8N -

£
Q
Ln
«— 4cm > g

«~ 4cm -

uwos o

(A) 15%H0
(B) 15 T
(C) 16990
(D) 16 T2

e Ta@Terd & 1000 BT H 3 330 ¥Het-
T 3 2, 400 YaeT 3w & 3iR Tt
BT @Y 3 Ardl-ar B €| e
& e wfcrere B <He-a9 3 ) 31
&? |

(A) 67%

(B) 27%

(C) 50%

(D) 33%

TP T IR AT ¥ 36 7S 8l
3R ST el o1 9T 48 &, dt aFl
(A) 40, 08
(B) 36,12
(C) 42, 06
(D) 32,16

RGNV/21
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48. What will be the perimeter of

following figure -
E

o

LN

«~ 4cm - S

«~ 4cm -

(A) 15 cm.
(B) 15 cm?
(C) 16 cm
(D) 16 cm?

. Out of 1000 students of.a school,
330 come by school-bus, 400

come walking and remaining are
dropped by parent. What is the
percentage of students that do not
ride the school-bus to school?

(A) 67%
(B) 27%
(C) 50%
(D) 33%

. One number exceeds another

number by 36. The sum of
numbers is 48, then the both
numbers are -

(A) 40, 08
(B) 36, 12
(C) 42, 06
(D) 32, 16

[ Turn Over}
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51

52.

53.

54,

HFRY® TRl (MENTAL ABILITY)

FTRIEUS o e e | eleT TETgR
ST T TOTT SopTan Rerg &7
(A) SERIgd

(B) W

(C) S

(D) 3icHIST

‘et o T e 3 R
Rerg &? |
(A) TeiRmrg

(B) RPN

(C) =re

(D) THIEH

ol

feTe <0 @1 g i &
(A) TR

(B) W&

(C) 3ifaem

(D) udKar

foreq wareesr e gRT e SR
TR 3 TP 3 e iR T
51 =197 & BT ) 7

(A) COVID-19

(B) COvn-19

(C) COnVv-19

(D) COnVID-19
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51.

52.

53.

54,

In which city of Uttarakhand Lal
Bahadur Shastri National Acadamy
of Administration is situated?

(A) Dehradun

(B) Mussoorie

(C) Nainital

(D) Almora

In which district of Uttarakhand
'Valley of flowers' is srcuated?

(A) Pithoragarh

(B) Uttarkashi

- (C) Nainital

(D) Chamoli

Main source of vitamin 'C' is -
(A) cCarrot

(B) Apple

(C) Amla

(D) Papaya

Which name is officially announced
by World Health Organisétion for the
outbreak of Novel Corona Virus?

(A) CoviD-19
(B) COVR-19
(C) COnv-19
(D) COnVID-19




55.

56.

57

58.

g

IERIEE BT 5T &l &
(A) AR

(B) HrF

(C) &

(D) R

AR BT AL Tl &
(A) fopbe

(B) ®EE!

(C) T

(D) eare

HE id GRFAFRE U= Bl 5 WRIM
&

(A) BN

(B) S

ORELIE]

(D) SEEe

AT § STRIEUE & TeTe | (HIeh)
&Y T B-
(A) 03

(B) 05

(C) 70

(D) 01

YR BT 2947 59 &
(A) TRIREIG

(B) FREUS

(C) eI

(D) §REUS
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55.

56.

57.

58.

59.

The state bird of Uttarakhand is-
(A) Peacock '

(B) Monal

(C) Swan

(D) Teetar (Francolin)

“The national game of India is -

(A) Cricket
(B) Kabaddi
(C) Hockey
(D) Football

The birth place of the great poet
Sumitranandan Pant is- -

(A) Kausani

(B) Nainital

(C) Aimora

(D) Didihat

Seats in Lok Sabha for Uttarakhand
is-

(A) 03

(B) 05

(C) 70

(D) 01

India's 29th state is -
(A) Chhattisgarh
(B) Uttarakhand

(C) Telangana
(D) Jharkhand

[ Turn Over]




- 60. HRT ¥ TEHH &-

(A) JFRiE
(B) 31T g
(C) TN anfeegmrer
(D) ddbar g,

- Tt (v ez 61 9 65 @@) : UeT B TR

. Rieg Re e €, Bt S Roeg R 7
e e ) oo R s O R

61,
62,
f63.
?64.

65.

R e 3 g

(A) T
(B) 3rrET
(C) &R
(D) CERTGT

AC
EG
DF
RU

(A)
(B)
(©)
(D)

(A) =R
(B) 3wt
(C) #%
(D) FaawRr

(A) 15 Pee Feme urh
(B) RISTIST e Ul
(C) BRI M I%
(D) T ST Uk

(A) foobe

(B) oo
(C) eFg
(D) Ssffes

RGNV/21 -
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. 64.

60. The Home Minister of India is-

61.

62.

63.

65.

(A) Rajnath Singh
(B) Amit Shah

(C) Yogi Adityanath
(D) Venkaiah Naidu

Directions (Question No. 61 to
65) : Four options are given in
each question. Three of them are
similar in same way and one is odd.
Find the odd one-

Chamoli
Almora
Rudrapur
Dehradun

(A)
(B)
(C)
(D)

AC
EG
DF
RU

(A)
(B)
()
(D)

(A) November
(B)
(©)

(D)

April
May
September

Jim Corbett National Park
Rajaji National Park

(A)
(B)
(C)
(D)

Kaziranga National Park
Gangotri National Park

Cricket
Football
Tennis

(A)
(B)
(9)
(D)

Badminton




xS (vreT i 66 2 70 wp) < e Directions (Question No. 66 to 70 ):

gyof & yeearEe FE (?) F W | T In the following questions, select the
TP rw e et 3 TS 3R BT T ~ correct option from the given alternatives
N _ which replace question mark(?) -
66. & UGY : 3CUGH ¢ : o ¢ ? | 66. Green Plants : Producer :: Animal : ?
(A) 3UCH _ (A) Decomposer
(B) 3UHRBI ~ (B) Consumer
(C) _E@r@f . (C) Autotrophs
(D) 3RIH H P el (D) None of above
67. TR : ORI : : ST : P 67. India : Asia :: Germany : ?
A) q\"m (A) Eunjope :
- (B) ST (B) Africa
©). ;f@ ' (© Au§tralia
(D) R (D) Asia
68. o : Rigel: : o Sor ;9 68. Shrilanka: Singhli :: Bangla Desh : ?
(A) 3% (A) Urdu
(B) SR ' (B) Bengali
(C) IREY (C) Arbi
(D) &= ' (D) Hindi

69. Champawat:Pithoragarh::Bageshwar:?
69. TEEd : UARME : : SAIZR : ? P : .

(A) A9 (A) Nainital
(B) 3;@:{-]31 (B) Almora
(C) THwEn (C) Chamoli
(D) $W%|?W (D) Udham Singh Nagar
20. e TR ¢ ¢ SRR : ? 70. Thennometer:Témpelature::Barometer:?
(A) TEE (A) Air pressure
(B) FI (B) Heat
(C) T (C) Speed
(D) o (D) Direction
RGNV/21 [ Turi Over]
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e (vee e 71 @ 75 9o) - efeReEg
eI H U {RGeT & TS &, K<l & 3 U
BT TIT e e f9wedt # I Hifswe-

71,

; 72,

. 73.

- 74.

- 75.

//;b.

8,7, 16,5, 32, 3, 64, -
(A) 18

(B) 13

(©) 3

(D) 1

1,9, 25, 49, 81, -
(A) 100
(B) 144
(C) 121
(D) 112

3, 15, 35, 63, 99, -~
(A) 133
(B) 143
(C) 153
(D) 165

A3' Bgl C27' D81’ -
(A) E240
(B) E243

(C) Eyps

(D) Eue .

ACEG, BDFH, CEGI, -

(A) DGH3J ~
(B) DFIJ

(C) DFHJ

(D) EGIK

.RGNV/21

lies
by 1

Directions (Q.No. 71 to 75) : In the

71.

72.

rac

74,

75.

following questions a sequence is
given. Select the next term of
sequence from the given alternatives.

8,7,16,5, 32, 3, 64, -

(A) 18
(B) 13

(C) 3

(D) 1

1,9, 25, 49, 81, -
(A) 100
(B) 144
(C) 121
(D) 112

3, 15, 35, 63, 99, -
(A) 133
(B) 143
(C) 153
(D) 165

Asr By, Cyor Dgyr ~
(A) Ez40
_(B) Eass
(C) Euus
(D) E260

ACEG, BDFH, CEGI, -
(A) DGHJ

(B) DFIJ

(C) DFHJ

(D) EGIK




76. it CAB @I 5=l Tidhieres Hrem # 312
fora ST &, < DAB I feran e -

77.

78.

79.

80.

(A) 214
(B) 421
(C) 412
(D) 413

gt 4=A5=B,6=CaqA7=D
21, ar 5674 fera Ser-
(A) BCAD

-(B) BCDA

(C) BDCA
(D) BDAC

%aﬁw@%ﬁ@ﬁﬁﬁﬁaﬁ%‘-

»e X

(B) 8
(C) 5
(D) 4

Srfied & S-S ST ¢ -
(A) Y - HEEA

(B) 969 -

(C) &eTms - Il

(D) TRK - HIsH

o URp & T BT HHIG G AR &
teram &, o ufts ¥ o fopa AN 82
(A) 6
(B) 7
(C) 8
(D) 9
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76. In a certain code if CAB is written

Ty

78.

79.

80.

|

as 312, then DAB will be coded as-
(A) 214
(B) 421
(C) 412
(D) 413

If4=A,5=B,6=Cand7=D
Then 5674 will be written as -
(A) BCAD

(B) BCDA

(C) BDCA

(D) BDAC

How many Triangles are there in the
following figure - -

(A) 6
(B) 8
(C) 5
(D) 4

Which pair is mismatched in the
following -

(A) Milk - Butter

(B) Bulb - Light

(C) Wrist - Finger

(D) Body - Food

In a row the number of Ram is fifth
from both sides, so how many
people are there in the row ?
(A) 6
(B) 7
(C) 8
(D) 9
[ Turn Over]
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r

e (uem < 81 9 85 ) + HRT SIeT § T g (=) & a1l iR &) gt g
qR SR b SHTH T seeraeres fores () 1 el 3l o) st o o e e e
SF o5 o1l 3R ot st # 1 sevtaTes firs (2) & IR R Bt 6 STER ST
R SMPRAT & 2 g |

Directions (Question No. 81 to 85 ) : In problem figure, two figures are there in the
left of the sign of proportionality (::) and one figure and a question mark (?) are

to the right of it. There should be the same relationship between the two figures
of right hand side as it is between two figures of the left hand side. Choose the

appropriate figure from the answer figures which replaces the question mark (?).

81. ?THWTSH@% (Problem Figure) Eiskd ST@% (Answer Figure)

oHBHRH] [F[E[E[E

. (A) (B) (©) (D)
. 82. WT?:T@% (Problem Figure) 3?-!'{34'@% (Answer Figure)

%:é}::@f? @(@@@

A (B) © - (@
83. ‘HIIW[ST@% (Problem Figure) - WST@% (Answer Figure)

TR 2] [X]] [

(A) (B) (C) (D)
84. WS@% (Problem Figure) JTX 31173'3% (Answer 'Figure)

Q:@::A:’? INIIATO! |

| (A) (B) (©) - (D)
85. SRIT 3NPHT (Problem Figure) JR 3BT (Answer Figure)

K [:[><:]ag:| 2 >o| |k ﬁ

(A) (B) (©) (D)
[ Turn Over]
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Directions (Question No. 86 to 90 ) : There is a problem figure in the left side-and
answer figures are in the right side. Choose the similar figure as problem figure

from the answer figures.

86. HHHII 31@% (Problem Figure) FK 311@% (Answer Figure)
A A A /\
R\ | A | | =\
(A (B) () (D) -
87. {HVI 31'@% (Problem Figure) FR 31'@% (Answer Figure)
(A) (B) (©) (D)
~ 88. THET ST@F\"T (Problem Figure) IR 341@5% (Answer Figure)
A A A O A
(A) (B) (© (D)
89. HHHI 3@% (Problem Figure) IR 3BT (Answer Figure)
(A) (B) (©) (D)
90. THEIT 3T (Problem Figure) FR 311@1'\(-[ (Answer Figure)
(A) (B) (O (D)
RGNV/21
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Directions (Question No. 91 to 95 ) : -In the following questions, four figures are
given. Three of them are similar (alike) in a certain way and one is odd. Find the

odd figure.
91. | +—— I —_— | I
(A) (B) (©) (D)
| (A) (B) (©) (D)
ENZE ®
(A) (B) | (C) (D)
o4,
.(A) (B) | () (D)
é95. @3 @ | @

(A) - (B) (©) (D)
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Diréo;tiqns (Question No. 96 to 100) : In the following questions, a problem figure |
" i$ given which is in complete. Find the correct alternative from the gi\‘/e'n options

V\Ih'ich complete problem figure.

96. TU 3PId (Problem Figure) | 3R B (Answer Figure)
Yapy )0 (IR REE
I\ O , ;
(A) (B) (©) (D)
97. HHRIN 31@% (Problem Figure) EiSRS 3TIT§% (Answer Figure)
- (A) (B) ©) (D)
98. HHHI H@% (Problem Figure) | Eisks ﬂ@% (Answer Figure)
d i
b Z
(A) (B) (©) (D)

RGNV/21




 99. HWT 3MPBRT (Problem Figure)

IR 31'@% (Answer Figure)

O

[0

(o]

o)

" 100, 99T ATHRT (Problem Figure)

</

(A)

(C)

(D)

FR 3BT (Answer Figure)

U

&>

&

A

'RGNV/21

(A)

(B)

(©)

(D)
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